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Here are some people in "W who found themselves in situations of being rushed, and missing deadlines

etc.:
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8. So N1 once fasted two days straight on 119> DI' because the messanger didn’t make it in time

to tell him the proper day. If you know where this is please send. Thanks in advance.
(.10 NINQY) NYWN NDIVIY TV 12N NX 1INAY 190N X2 121 NI |2 [IN1F 1 INXT

9

(.29 p"22) .21 '¥Y DNIY W IX 19NN TAREYY TNX .10

Don’t Forget To Get A Haircut Before noD:

Three D>11°Y In Haircutting:
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How often?
How often does a 091U 7’11 cut his hair?
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Parenthetically | want to ask in >27 based on a later X11:
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S0 27 said that O17wWAX was a 071U 13 and he was WM IwY D2IW5 NAX 1230, whereas

*XT713 77 said that he was 01’59 NNX 19237, | want to suggest that it is not unreasonable to say
that >XM713 "7 doesn’t argue with >17 in the fact that D17w2aX was a 0?11 1. If so our 1Y on
79X Tk 1177 could fit well with *X1711 7, as the mIwn says that a D94 1 is O 5% NAX 9N,

But how can we understand the v of °271?

If >wX1 WD NPT D8 77 IR is a 010 1 then according to 27 shouldn’t he be 120 every
12 months. | want to say it is a 71M 2p. If 017X who was a 191 13, and it was the way of the
0291 *12 to shave N2w 27u% NAw 27U, never the less according to *27 he only shaved every 12
months, so 12w 92 a regular 0911 7’11 should only shave every 12 months and not sooner.
Perhaps we can be P71 in the TIwn that *27 doesn’t say this is a 0?11 1°13 and he just says 171X
0P ’5% NNX 19N, but °n1 227 PX a D70 P according to *27 only shaves once every 12 months.

Alternatively | want to suggest that everyone agrees that a D911 7’11 generally shaves every 30
days, and the only argument is in the case of D19waX. So *27 holds of the M 71711 of D’ D1,
which teaches that he shaved every 12 months. | want to say that this would explain

why X711 "7 on A?X T1N1 11 77 doesn’t give a reason for his 110°w of 30 days since this is the
normal period of time that a 7’11 shaves. It is only 17 and >0’ "1 who say that D19w2aX’s shaving
schedule deviated from that of the standard 0911 7°13’s shaving schedule, It is only they who
need to give reasons for this deviation. So *27 learns it from a Mw 77°13 and *01 "1 learns it from
the fact that he was a 791 13, so perhaps >0’ "1 would say that any 797 12 who adopts 0?11 M1
would shave Naw 17u% Naw 274N,

In the MW of 01 "7 | want to point out something about the weekly shave. >01° ' says this was
the haircut of the 0’277 °12. The X1 later in 2 TN ©2 77 7’11 says
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Now, we had before in 0771:
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Now the X711 doesn’t say here how often he got this haircut. Perhaps there are 2 D> in
hairlength. One is 111 D& 1P°4 T2 711 2w 1wX1 and one is 172°49 17X 7129 > 7. Perhaps this last
one means to bend the head of the hair to its own root. Is there actually a difference between
these two D> MW w?
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So you see that the haircut of the 2173 1772 was Naw 174 N2w 274UN. | want to suggest that |2
MUK took a haircut NAW 27U NAW 274N as the XN**12 says that he showed the haircut of the
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2173 1712 and that was how often the 2171 j712 took a haircut. So about the two DWW | want to
suggest that X177 XMW 717 >7°X1 > T’X they are the same M. Also we know from 01 " in 7’11
that the 0’297 *12 also took a haircut N2w 274 N2w 27uN.

What day of the week was it?

| want to suggest that it was Friday, as the X711 says Naw 27u% N2w 274N, but before N0
7mIn% according to everyone (:12 NAW). | now present the 4 MW of the D°11WX7 in this:

The 0N "1 QW2 MBDOIMN s 2PN even a 112173 MU0 before 19171 NN, but he doesn’t allow a
VP 7TMUO before IV AMIN.

The 7”7 is M7 like 2pL° 12 XMX "7 not even a 7IVP MU0 before nrintSrishial

The MXn11 P13 says even a 112171 TTIUO before 72172 111371 but he does not allow a MIvP 77IUD
before 1110p IMIN.

The >”1 DW2 7N 1 MBDOIN says even a 111WpP TTU0 before M1VP 1IN but he does not allow a
12173 U0 before 12173 AN,

The *2770 M3 says even a 13V MU0 before 71vP NN and he also allows a 719173 77100
before 112173 MmN,
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Allthough we said AX 717 7271 211 NAX 12°0XW MO 71N N132% URPRa TWwHK 12 02 0°7m
WX NoNW 123 w3a2° XD IXIY D1wn Mox P1ma

Never-the-less Perhaps this X171 in 7°11 proves that it is 7111 to die the beard black to look
younger, and it is not a problem of WX NYNW 7121 w29’ XD. Perhaps it is only the beard that this
is ok since women do not have beards, or perhaps it is even hair as we said in 0’771 that 7717
WX NN is allowed to get benefit from women, but not from men (:? 0°711). So men are
considered WX171 >N, and perhaps a woman would not care to die her hair black since her
hair is covered so it would be ok for a man to die his hair.

Say It 1NIX Ow3:
(0 T973n) 121 0D APIKA X227 101K QWA 127 X230 92 713730 1 0K TURK 1IN0

Some M%7 of saying it MK DwA:
(213 7°13) 117K XD ORIPKA 177K XN KATR XN *22 7IRKD AT XNNUAY 92 117 UnRw 1nK
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PRWN 27X 0P XU T"KT XU T XD’ 0 DK @K DTX 9D IXY 771701 WK XIRY 0K 17
NNUNW X NXT X°ND 7125 °27 0°20 °0X 119 X7PUT ' 19 0K XANON X123 X177 Dww T P nune?
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| want to mention that the above vort of the 4 MWW for haircut on N2 274 was said to me by 0°19X "1
172371, | saw him on Purim and asked him for a vort. This was his vort. By the way | think there is only
one 019X in all of *722.
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Rabbi Weisenberg, told me about the 5th T w.
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Ayyyyyyy he learned something from him:
(1" 7°11) POND KPP0 M PRNY
Maybe we can say like 13111 " said in 217’0 :
(.12 PA1PL) MY 1A PR PR MY 1 IRK
and *NTNY XY is only *P19XY in MN2’ where the X113 says:

X219 0K XD PPN K IRIINA FIPIXW 1R 0273 N2 XWIW 172 K27 XD XWX 0 AP 1 rn XUl
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Did | Do Something Wrong?
Forget about it.

PWIPK
People (: 7 19°Jn)
Forget (:2 0°1)
POl
YIPX INXTD

"To err is human”
This phrase means: “It is normal for people to make mistakes.” - Merriam - Webster
(.0 P1un) ao1°rna X7 .21°70 XX 0 I0X NN X173 200

And here it is. The 117
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The X1’I11 72 X™u *10 and an altered organism:
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Moving up the ranks.
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Was *X111 12 always a 1211 71?0 of X2°pu /1?
Is it possible for a 771N to move up the ranks?
We find by X1°17 and *wX "1:
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anyways it seems from the second thing we learn that X1°27 was a 71N of *wX ’.
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If the X71X would have been there:
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3 times in 7’11 N2J0N that ¥’pP% w7 holds it is not a *2°0n wn? 125::
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| want to say there are at least 4 91 72’s in 0" Ww:
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| want to say there are at least 4 01173’s in 0" W
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